FoAE S I )AE < K5 == kkk AU E v part2 kkk C I L) # T &#® K4 J
~AAGTURREIZF Y LD LT, £AFIIEBEES ' ~ ” 2 =Y NE)) =@ = 5 5
(XA 7T R B1Y, BESNETATNIUEST, 1~10F TOEIED 2% AEER | S| 3 & AEMER | AL 4 & 4EEEH | S| 5 A& AEER | R
FE T, 1| 2+2+2-2 51 3+3+3-3 50 4+4+4—4 5| 5+5+45-5 5
AEY, TEAPFPEHEICI~10FE TOEEE->TH BWET, 2 | 222422 4| 3+3+3+3 4| 4+a+4+4 4| 5+545+5 4
ZOEEFEIFERZLSTRA Y FPENETDT, TEXAHETARA LV bv@< 7 3| (+242) =2 5| 3x3—3—3 5| (+a+4)+4 5| 5—(5+5) <5 5
HENNNESTLIZE, BN A ¥ M RE D NN A X IVTT, 4| 242+2—2 6| (3x3+3)+3 4| 4+ @4—a) x4 5| Gx5—5)=5
Firaa (== ‘@‘;ﬁé‘g&ﬁ =X () [3HfEb7z 5| 2+2+2+2 5| 3+3—3+3 5| (4x4+4) =4 4| 5+ (5—5) X5 5
N . W2 &,
It BiE— 25 i 6 | 2x @+2)—2 5| 3+3+3—3 6 | 4+ @U+4)+4 5| Gx5+5) +5
FIEX, BRE+ LR 1x9% (—1) X (—9) & LAz &, 7| 225-v232 2 | 3+3+3+3 5| 4+4—4+4 5 | 5+(5+5) =5
() OffEH 0 ;4‘9—94‘275’_ (—1-9+9-2) &L 8 | a+2+2+2 6| 3x3-3+3 4| 4+4+4—1 6| 5.5 5.5
= AN
M/ 22! N =/ N 5 °© . . - -
SRR, B, NS, TEBR —1A B LT b 9| 2. 9402 3| 3x3+3-3 5| 4+atasa 5| 5+5-5+5
BOR, FEROEMITIOICOE 0.3%.3L TX %, 10 | 2x @+2) +2 5| 3x3+3+3 4| avata—a 5| 545455
19, 192> & 5 fcﬁ'fjii‘lz \ji 2){—? 0.333--- & 3L TX5, ZOHEDR 1—“\ 46 1—“\ 47 a«l-‘lj_ff 49 /El\§+»'15\\
*1¢%(?Ef_éf;b\%rﬁ%° ZEH —35 | FOBHETZRETS, REG) AN 1 (@®) A1 (9 !
», WOMEE (1) ODREEREBHZIZ, ANV ERIRLTTF YLy LED ! = 6 & AMEEEA | 05| 7T &2 4MEE | 5| 8 2 AMEMER | 5| 9 &2 4fEME | AR
Z':TO) @) 15 (9) EFTOSEHD O b, (nfE D4 A X IVISEHLD DR, 116:6+6-6 5| 707477 5| 8+8+8-38 5| 9+9+9—9 5
2 | 6+6+6=6 4| 11T 4| 8+8+8+8 4| 9+949+9 4
w | (& o . ] B )
3| 6+6+6)+6 51 (T+74+7)+7 5| (8+8+8)+8 5| (94+949) +9 5
B\ 1% a & —— . :
1 IxX1+1—1 5 416-(6+6)+6 5| T+7-7+7 4| +/8+8 +8-8 5| 9+4/9+9+9
21 1X1+1X1 4 5| (6x6—6)+6 4| 1=+ T 5| 8.8 818 2| Jo+0O+9+9
3| 1X1+1+1 5 6| 6466 x6 5 x7-1+7 4| 8—(8+8)=8 51 V9449 +9—9
4] 11141 6 7| 6x6+6)=6 4| T+ 0—7) X7 5| 8x8—8) =8 1] 9—9+9) =9
5] A+1+D ! —1 5 : : - :
6 | (IX1+1+1) 1 1 i 8 | 6+ (6+6) 6 5| (TXT+7) =7 4| 8+(8—8) X8 5| (9X9—9) +9
71 Q+1+1) 1 +1 5 9| 6-6+6-6 3| THTHD T 5| (8x8+8)+8 41 9+09—9 x9 5
81 1+.1-1-1 4 @467 (D4Ta (D495 () 4543 10| 6+.6+6-6 4| 7T=7+7-7 4| 8+ (8+8) =8 5| (9x9+9)+9
9 1+. i+1_1 3 (6) 4441\ (7> 43/;\ (8) 4441\ (9).4311\ é\g‘l“llf—i 1 é}%‘l‘llf_i 43 /E[\§+)|lj_i M /El\§+)l‘l_i
NEEREE 2 WATE 36445 (2018/12/21 Tokioka) Ve o1
Bt 45




